Name Math 12H Polar Coordinates/Equations

Polar Coordinates/Equations

(r, 9) X =rcos0
r = directed distance from pole y=rsinb
0 = direction angle F=x+ \._\.N

(7 0)=F0+2nx)or(+,0+t(2n+1)z) tanf=2

X
(1) Plot the following points:

o o) el

(2) Give two sets of coordinates that are equivalent for each (r > 0, r <0):

@(Z) e @

(3) Find the rectangular coordinates for each:
T 3z
= b) | -6,°= -
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(4) Convert the following to polar coordinates:

(@) (-4:4) (b) (0, -8) ©) (~1~3) @ (-6,+2)
(5) Change each to a rectangular equation:
(a)r=5
_ 5
(b)o= e
(c)r=5cosB

(d)» sin®6=13 cos 0
(e)r=1-+sind

(£ r=—

1+cosé

(6) Oo:ﬁi mmo_u to a polar equation:
(a) X° +y =49
(b)y=-4,
(o)X’ =4y*
(Dy=x
(e)x*+y —4x+6y=0
O -y =1



(7) Convert each to a rectangular equation
(a) x=4t2, y=8¢°
(b) x=2cost, y=3sint 0< t’ <2m
(¢c) x=cost, y=cos2t
(d)x=sin’*t, y=sin't
3
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(8) Find the parametric equation for the line with the given properties. Convert each to a
rectangular equation.

(a) slope = % , passes through (4, -1)

(b) Passes through (6,7) and (7,8)

(9) What is the shape of the polar equation r =2 + 2 sin 6

10) What is the maximum value for r in the equation r = 6 (4— 5 sin 8)



